
Exploration: Similar Triangles on a Line

t. a. Pick two points on line A.

b. Draw a right triangle so that the
distance between the two points you

.chose is the hypotenuse.

c. Write the ratio of the length of the
vertical leg of your right triangle to
the length of the horizontal leg.
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d, Repeat this process two more
times with different points (try to get

different sized triangles). What do you

notice?
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2. a. Pick two points on lineft Bo

b. Draw a right triangle so that the distance between the two points you chose is the hypotenuse,

c. Write the ratio of the length of the vertical leg of your right triangle to the length of the horizontal leg.
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d. Repeat this process two more times with different points (try to get different sized triangles). What do you
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3. Which line is steeper, Line A or Line B? How does this relate to the ratio's you found?
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4. a. Pick two points on line C.

b. Draw a right triangle so'that the distance
between the two points you chose is the
hypotenuse.

c. Write the ratio of the length of the vertical
of your right triangle to the length of the
horizontal leg.
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d. Repeat this process two more times with
different points (try to get different sized

t ria n gI es ). Mtr*eat"deuyo u',notice ft
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5. a. Pick two points on line D.

b. Draw a right triangle so that the distance between the two points you chose is the hypotenuse.

c. Write the ratio of the length of the vertical leg of your right triangle to the length of the horizontal leg.
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d. Repeat this process two more times with different points (try to get different sized triangles). Whaf"do"ydtr
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6. Which line is steeper, Line C or Line D? How does this relate to the ratio's vou found? Th${ d-'$t 
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